Review for the Final

Math 147
The Onceler’s Thneed Factory has been experimenting with the price they charge per Thneed.  Below are the results of their experiment.

	Number of Thneeds sold (x)
	Price per Thneed (p)

	80
	$246.00

	90
	$245.50

	100
	$245.00

	110
	$244.50

	120
	$244.00


1. Find the linear equation that gives the price of a Thneed as a function of the number sold.

2. Explain the meaning of the slope of the line you found in problem #1.

3. Explain the meaning of the y intercept of the line you found in problem #1.

4. Rochelle deposits $350 in an account that earns 6% annual interest, compounded quarterly.  How much money will be in the account in 8 years?

5. Janet deposits $150 every month in an account that earns 6% interest, compounded monthly.  How long will it take Janet to save up $8000?

6. Joyce bought an antique table for $150.00 at a swap meet.  Joyce sold the table 7 years later for $700.00.  What annually compounded interest rate did Joyce make on this investment?

7. Steven runs up a $5000 debt on his credit card.  If he wished to pay it off in 4 years by making monthly payments, how big should the payments be?  The credit card company charges Steven 16% interest, compounded monthly.
8. How long will it take Ajay’s money to double if he invests in an account earning 7% interest, compounded continuously?

9. You can now buy a US Treasury Bill (T-bill) for $99,479 that will be worth $100,000 in 182 days.  What simple annual interest rate will you be making on your investment?
10. Use the Simplex Method to minimize P = 40x +30y, subject to 
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11. Graph the solution to the system of linear inequalities 
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.  Find the coordinates of the corner points.

12. Solve the system of linear equations 
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 using addition elimination.

13. Solve the system of linear equations 
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 using substitution.

14. Solve using Gauss-Jordan Elimination (Row operations) 
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15. Let 
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16. Let 
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 by using row operations.

17. Solve for x:  800 = 500(1.09)x.

18. How many numbers between 1 and 20 are divisible by 2 or divisible by 3?

19. In producing three types of bricks:  face bricks, common bricks, and refractory bricks, a factory incurs labor, material and utility costs.  To produce one pallet of face bricks, the labor, material and utility costs are $50, $75, and $35, respectively.  To produce one pallet of common bricks, the labor, material and utility costs are $50, $60, and $30 respectively, while the corresponding costs for refractory bricks are $75, $100, and $45.  The company has allocated $12,000 for labor costs, $14,500 for material costs and $6,000 for utility costs.  How many pallets of each type of brick should be produced in that month to exactly utilize these allocations?  Set up a system of linear equations, but DO NOT SOLVE THE SYSTEM.

20. An accounting firm is sending two of its 14 employees to the National Accounting Association Convention in Las Vegas.  How many different groups can be sent?

21. Every month the same accounting firm designates one employee as employee of the month.  Another employee is assigned the job of emptying the wastebaskets at the end of the day.  If a new person is placed in each position every month, how long will it be before they have to repeat?

22. An ice cream shop offers 31 flavors.  How many different two scoop ice-cream cones are possible?
23. What if you were required to use different flavors on your two scoop cone?  What would your answer be now?

24. Draw a Venn diagram and shade 
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25. A = {1,3,5,7,9}  B = {3,4,5,6,7}  C = {1,2,4,6,8}.  Find 
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26. Find 
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 for the above sets.

27. Which is the better investment, 6.99% compounded daily or 7.05% compounded quarterly?  (Compare the effective rates of each investment.)

28. Let f(x) = x2 – 3x + 5.  Find f(-3) and f(2 + a).

29. This morning I got up before it was really light out side.  I did laundry the night before and all my socks were in the laundry basket in the bedroom.  I have 9 pairs of black socks and 6 pairs of navy socks, but I can’t tell them apart in the semi-darkness.  I don’t want to wake my wife who is sleeping nearby, so I want to take some into another room of the house where I can turn on the light.  If I want to be guaranteed to have a matching pair, what is the least number of socks I should take with me?

30. What is the difference between saying a quantity is growing at a constant rate of 300 per year and saying a quantity is growing at a constant rate of 3% per year?

31. A teacher gives students a list of 31 questions, from which the teacher will select 15 that will be on the final exam.  How many different final exams can the teacher create?  If a student knows how to do 25 of the 31 questions, how many of these tests will the student be able to do every problem on the final exam?
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